SHA4FEEE10[E
KiRFERESEHERE BITE)

1. FESE EFEREMESE 9. BRE
(1) B8 2A278 (A) 1085005 ~ Bzt
2. HES EFREMNHAKRIGARFRIAR1—2 2A28H () 10BF30%~ BEORE -HERBRE
KiR - #iES (2) 357 KR 515 R O B i) 75t 55 15
3. FERIRX SHAEEEFRFEEHEEE F10EKRHRSE 10. HEHRE
(1) B8 3A9H (K)
4. BifE BB =Y AH ER | F1mERERZ 8BF309 ~ 9B 155
%1 38118 + 11:15 (2) 357 KiRER B 5 HEREE
%20 3R 12H S| 11:15
%38 38138 A 11:15 11. 8BERHE  BEDEBY
$4H 3R 14H X 11:15
12, FERZ
5. AEEfHL) 2H20H (A) 3A11E~148| 1 2 3| 4| 5 6 7 8 | 9 | 10| 11 | 12
SR EE S 110:25/11:00(11:35/12:10|12:45|13:20{ 13:55| 14:30| 15:05| 15:40| 16:15/16:50
6. HERA FE  [11:1511:50(12:2513:00|13:35|14:10 | 14:45|15:20| 15:55 | 16:30|17:05 | 17:40
(1) A B 2A20H (B) 9BF~12B%
(2) BBIAGFT KiRER B 5 R VR 3% 5 15 13. EE- RIS ATILERE
(3) HIAF i DOHERAE QFFXEHKRL EE A8
O L5 H
@DIRAD B XD BT BILIJRAFKITD 14. ZDh
i BRI A E (1)3BEDOHEILETRFEARRIHEE
(4) A F Huw 188(ZDZ200M (2)COFMICTHARSINTOVEVWEIEIFRFEREZEBRUVREERELEIZLD
RHEEOXMBIE. (—)BEFREEXREFELTITVET  FHESZHITDLTIE,
7. SA%ENIE H (—#) EFEET2IIBBLAhEESLY,
(1) BEH B 28208 (B) 9Fs~128% () SREBOIRICH->TIIABAREL, HEFEZSD
(2) BB KR 3R 5 35 B U B [ 3% 55 35 (5)FEBHICKY. COBHICHRINTOSES - HFLUFITOLVT. EETS
(3) B F#t ORHBENRHE QFHET R EFAE HBENHYFET,
OHEE T T
@FpH>FFERELE 15, EE-$FhlHE
8. BAFERIA AT 4R
(1) A B B 2A20H (B) 9oBf~128F RAE 4RI
(2) BHIA AT KRR BH R VR 55 ZERA
(3) A F i DEFFERIAE QBFRIFL

HH. UEEFETICEBRFREFR AN

FESNTNREIZDONTIX, YD

BEBFETICRIFIIZIRE TSI,
(4) BAF Huw 1AIZDZ200M



[MAEE 10 KiRFER BMESHE

(B FH)
1fi. (i VA 7 -7 |5 > N 3
AT - Hi it
X | A=7v AR B1#k B2#k C1#k C2#k 3%
W B (21,600 @ 1,600 @ 1,600 @ 850] ® 1,600 @ 1,600 ® 1,600 G 1,400 31,300 @ 1,300 @ 1,300 @ 1,600 12 R
700 — — 700 530 — — 530 350 -+ - 1,100
1 ® — U5= F = #& 25| — 186 = $F = & 186 A 128+ - §E A 385
3118 #0140 8 3% B % 140] # 106 8 & & 4% 106 #0704 % B8 % ® 22 12,379
(x) & 91 = = 91 69 = = 69 46 = = 143
49 49 37 37 25 77
W W (21,600 @ 1,600 @ 1,400 © 1,600 ® 1,600 @ 1,600 ® 850 ® 1,300 @ 1,300 D 1,300 ® @ 1,400 —EHRE 12 R
700 — 700 530 — — 530 350 — — 700 600
2 =1 245 5 §F 245 1865 # ~ & 186 A 128€ #F A 4 Bl 245 B2 210
38128 140 8 140 #0106 8 3% B % 106 #0704 1% B8 % ® 140 & 120 11, 504
(g/) S 91 R 91 69 R ] 69 46 R = 91 78
49 49 37 37 25 49 42
B W @ 1,400 @ 1,600 @ 1,600 @ 1,600 ® 1,600 @ 1,300] ® 1,400 B 1,400 @ 1,400 ® 850 @ 1,300 @ 1,300 12 R
271,200 430 — — — 430 350 — — 350 500 —
3 H ? 420 - 151 = & = & & 151 = 123 # = 123 Cl— 175C1 = 4
38138 Y 240 # g6 M @ oM % M g g6 # 0% 3 £ B 70 % #8100 & 8 3 10,071
(B) # L 156 56 = = = 56 46 = = 46 65 =
51 84 30 30 25 25 35
i - @ @ 1,600 —HEFHE 1,400 9 1,400 ® 1,400 @ 1,400 ® 850] () 1,600 @ 1,400 @ 1,400 ® 1,300 @ 1,300 12 R
1,200 1,100 430 — — — 430 350 350 — 400 —
4 = g — 420 § = 385 = 1B1x & + & N & 151 123 — 128 = & C2— 140C2 =
38148 o #0240 ol #0220 # 86 M i M % M % 86 70 48 70 8 % % 8 80 % M % 11,032
(&) & a1 156 ) 143 56 = = = 56 46 46 = 52 =
84 77 30 30 25 25 28
FHE T2 LA
HAE T 24 B 105 105 105 105 105 105 105
B 4 A 2,100 4,025 8,575 7,424 7,530 7,982 7,350 44,986
BT HAH
HiE T A F 1,019 2,037 1,271 8,484 10, 920 15, 561 9, 114 54, 411




